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ṡ(
t)

12

D
er
iv
at
an

s
te
ck

en

D
er
iv
at
an

s
te
ck
en

(+
/
−
)
vi
sa
r
os
s
om

fu
n
kt
io
n
en

s
gr
af

lu
ta
r
u
p
p
åt
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e
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os
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<
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=
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=
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+
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=
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+
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=
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u
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p
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=
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+
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=
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lä
gg

er
ti
ll
oc
h
d
ra
r
if
rå
n
en

ko
n
st
an

t

x
2
−

x
+

x
+

4
x
+

2
=

x
2
−

x
+

x
+

2
−

2
+

4
x
+

2
=

x
2
−

x
+

1
+

2
x
+

2
.

A
ll
ts
å
gä

ll
er

at
t

x
3
+

x
2
−

x
+

4
x
+

2
=

x
2
−

x
+

1
+

2
x
+

2
.

K
vo

te
n
är

x
2
−

x
+
1
oc
h
re
st
en

är
2.
E
ft
er
so
m

re
st
en

in
te

är
n
ol
lg

år
d
iv
is
io
n
en

in
te

jä
m
n
t
u
p
p
,d

vs
.q
(x
)
=

x
+

2
är

in
te

en
de
la
re

ti
ll
p
(x
)
=

x
3
+

x
2
−

x
+

4.

S
am

b
an

d
m
el
la
n
fa
k
to
re
r
oc

h
n
ol
ls
tä
ll
en

O
m

q(
x
)
är

en
d
el
ar
e
ti
ll
p
(x
)
så

gä
ll
er

al
lt
så

at
t
p
(x
)
=

k(
x
)
·q
(x
).
V
ih

ar
d
är
m
ed

fa
kt
o-

ri
se
ra
t
p
(x
).
M
an

sä
ge

r
at
tq
(x
)
är

en
fa
kt
or

ip
(x
).
Sp

ec
ie
ll
tg

äl
le
r
at
to

m
fö
rs
ta
gr
ad

sp
o-

ly
n
om

et
(x

−
a)

är
en

d
el
ar
e
ti
ll
p
(x
)
så

är
(x

−
a)

en
fa
kt
or

i
p
(x
)
,d

vs
.

p
(x
)
=

q(
x
)
·(
x
−

a)
.

E
ft
er
so
m

p
(a
)
=

q(
a)

·(
a
−

a)
=

q(
a)

·0
=

0
så

be
ty
d
er

d
et
ta

at
t
x
=

a
är

et
tn

ol
ls
tä
ll
e

ti
ll
p
(x
).
D
et
ta

är
p
re
ci
s
in
n
eh

ål
le
ti

d
en

s.
k.

fa
kt
or
sa
ts
en
.
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Fa
k
to
rs
at
se
n
:

(x
−

a)
är

en
d
el
ar
e
ti
ll
p
ol
yn

om
et

p
(x
)
om

oc
h
en

d
as
to

m
x
=

a
är

et
tn

ol
ls
tä
ll
e

ti
ll
p
(x
).

O
bs
er
ve

ra
at
t
sa
ts
en

gä
ll
er

åt
bå

d
a
h
ål
le
n
,d

vs
.o

m
m
an

ve
t
at
t
x
=

a
är

et
t
n
ol
ls
tä
ll
e

ti
ll
p
(x
)
så

ve
t
m
an

au
to
m
at
is
kt

at
t
p
(x
)
är

d
el
ba

rt
m
ed

(x
−

a)
.

E
xe

m
p
el

3

P
ol
yn

om
et

p
(x
)
=

x
2
−

6x
+

8
ka

n
fa
kt
or
is
er
as

so
m

x
2
−

6x
+

8
=

(x
−

2)
(x

−
4)

oc
h
h
ar

d
är
fö
r
n
ol
ls
tä
ll
en

a
x
=

2
oc
h
x
=

4
(o
ch

in
ga

an
d
ra
).
D
et

är
p
re
ci
s
d
es
sa

m
an

få
r
fr
am

om
m
an

lö
se
r
ek

va
ti
on

en
x
2
−

6x
+

8
=

0
.

E
xe

m
p
el

4

a)
Fa

kt
or
is
er
a
p
ol
yn

om
et

x
2
−

3x
−

10
.

G
en

om
at
t
be

st
äm

m
a
p
ol
yn

om
et
s
n
ol
ls
tä
ll
en

få
r
m
an

en
li
gt

fa
kt
or
sa
ts
en

au
-

to
m
at
is
kt

d
es
s
fa
kt
or
er
.
A
n
d
ra
gr
ad

se
kv

at
io
n
en

x
2
−

3x
−

10
=

0
h
ar

lö
s-

n
in
ga

rn
a

x
=

3 2
±

√
( 3 2

) 2
−
(−

10
)
=

3 2
±

7 2
,

d
vs
.x

=
−
2
oc
h
x
=

5.
D
et
ta

be
ty
d
er

at
t
x
2
−
3x

−
10

=
(x

−
(−

2)
)(
x
−
5)

=
(x

+
2)
(x

−
5)

.

b)
Fa

kt
or
is
er
a
p
ol
yn

om
et

x
2
+

6x
+

9.

D
et
ta

p
ol
yn

om
h
ar

en
d
u
bb

el
ro
t

x
=

−
3
±

√
(−

3)
2
−

9
=

−
3

oc
h
d
är
m
ed

är
x
2
+

6x
+

9
=

(x
−
(−

3)
)(
x
−
(−

3)
)
=

(x
+

3)
2
.

c)
Fa

kt
or
is
er
a
p
ol
yn

om
et

x
2
−

4x
+

5.

I
d
et
ta

fa
ll
h
ar

p
ol
yn

om
et

tv
å
ko

m
p
le
xa

rö
tt
er

x
=

2
±

√
22

−
5
=

2
±
√
−
1
=

2
±

i

oc
h
fa
kt
or
is
er
in
ge

n
bl
ir

(x
−
(2

−
i)
)(
x
−
(2

+
i)
)
.
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E
xe

m
p
el

5

B
es
tä
m

et
t
tr
ed

je
gr
ad

sp
ol
yn

om
m
ed

n
ol
ls
tä
ll
en

a
1
,
−
1
oc
h

3.

P
ol
yn

om
et

m
ås
te

en
li
gt

fa
kt
or
sa
ts
en

h
a
fa
kt
or
er
n
a
(x

−
1)
,
(x

+
1)

oc
h
(x

−
3)
.

M
u
lt
ip
li
ce
ra
r
vi

ih
op

d
es
sa

fa
kt
or
er

få
r
vi

ju
st

et
t
tr
ed

je
gr
ad

sp
ol
yn

om

(x
−

1)
(x

+
1)
(x

−
3)

=
(x

2
−

1)
(x

−
3)

=
x
3
−

3x
2
−

x
+

3.

A
lg
eb

ra
n
s
fu

n
d
am

en
ta
ls
at
s

V
ii
n
fö
rd
e
i
bö

rj
an

av
d
et
ta

ka
p
it
el

d
e
ko

m
p
le
xa

ta
le
n
fö
r
at
t
ku

n
n
a
lö
sa

an
d
ra
gr
ad

s-
ek

va
ti
on

en
x
2
=

−
1
oc
h
m
an

ka
n
n
u
st
äl
la

si
g
d
en

li
te

m
er

te
or
et
is
ka

fr
åg

an
om

d
et
ta

rä
ck
er
,e
ll
er

be
h
öv

er
vi

u
p
p
fi
n
n
a
fl
er

ty
p
er

av
ta
lf
ör

at
tk

u
n
n
a
lö
sa

an
d
ra

m
er

ko
m
p
li
-

ce
ra
d
e
p
ol
yn

om
ek

va
ti
on

er
.S

va
re
t
p
å
d
en

fr
åg

an
är

at
t
d
et

be
h
öv

er
vi

in
te

gö
ra

u
ta
n

d
et

rä
ck
er

m
ed

d
e
ko

m
p
le
xa

ta
le
n
.D

en
ty
sk
e
m
at
em

at
ik
er
n
C
ar
lF

ri
ed

ri
ch

G
au

ss
be

-
vi
sa
d
e
år

17
99

al
ge
br
an
s
fu
n
da
m
en
ta
ls
at
s
so
m

sä
ge

r
fö
lja

n
d
e:

V
ar
je

p
ol
yn

om
av

gr
ad

n
≥

1
m
ed

ko
m
p
le
xa

ko
ef
fi
ci
en

te
r
h
ar

m
in
st

et
t
n
ol
l-

st
äl
le

bl
an

d
d
e
ko

m
p
le
xa

ta
le
n
.

E
ft
er
so
m

va
rj
e
n
ol
ls
tä
ll
e
en

li
gt

fa
kt
or
sa
ts
en

m
ot
sv
ar
as

av
en

fa
kt
or
,k

an
m
an

n
u
oc
ks
å

fa
st
st
äl
la

fö
lja

n
d
e
sa
ts
:

V
ar
je
p
ol
yn

om
av

gr
ad

n
≥

1
h
ar

ex
ak

tn
st
yc
ke

n
n
ol
ls
tä
ll
en

om
va

rj
e
n
ol
ls
tä
ll
e

rä
kn

as
m
ed

si
n
m
u
lt
ip
li
ci
te
t.

(M
ed

m
u
lt
ip
li
ci
te
tm

en
as

at
te

tt
d
u
bb

el
tn

ol
ls
tä
ll
e
rä
kn

as
2
gå

n
ge

r,
et
tt
ri
p
p
el
n
ol
ls
tä
ll
e

3
gå

n
ge

r,
os
v.
)

N
ot
er
a
at
t
d
es
sa

sa
ts
er

ba
ra

sä
ge

r
at
t
d
et

fi
n
n
s
ko

m
p
le
xa

rö
tt
er

ti
ll
p
ol
yn

om
m
en

in
te

hu
r
m
an

rä
kn

ar
u
t
d
es
sa
.
I
al
lm

än
h
et

fi
n
n
s
d
et

in
ge

n
en

ke
l
m
et
od

at
t
sk
ri
va

u
p
p
en

fo
rm

el
fö
r
rö
tt
er
n
a,

u
ta
n
fö
r
p
ol
yn

om
ek

va
ti
on

er
av

h
ög

re
gr
ad

ta
l
få
r
vi

an
vä

n
d
a
d
i-

ve
rs
e
kn

ep
fö
r
at
t
lö
sa
.O

m
vi

h
ål
le
r
os
s
ti
ll
p
ol
yn

om
m
ed

re
el
la

ko
ef
fi
ci
en

te
r
så

är
et
t

av
d
es
sa

kn
ep

so
m

ka
n
h
jä
lp
a
os
s
at
t
p
ol
yn

om
et
s
ko

m
p
le
xa

rö
tt
er

al
lt
id

är
ko

m
p
le
x-

ko
n
ju
ge

ra
d
e.
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3 E
xe

m
p
el

6

V
is
a
at
t
p
ol
yn

om
et

p
(x
)
=

x
4
−

4x
3
+

6x
2
−

4x
+

5
h
ar

n
ol
ls
tä
ll
en

a
x
=

i
oc
h

x
=

2
−

i.
B
es
tä
m

d
är
ef
te
r
öv

ri
ga

n
ol
ls
tä
ll
en

.

V
ih

ar
at
t

p
(i
)
=

i4
−

4i
3
+

6i
2
−

4i
+

5
=

1
+

4i
−

6
−

4i
+

5
=

0,

p
(2

−
i)
=

(2
−

i)
4
−

4(
2
−

i)
3
+

6(
2
−

i)
2
−

4(
2
−

i)
+

5.

Fö
r
at
t
rä
kn

a
u
td

et
si
st
a
u
tt
ry
ck
et

be
h
öv

er
vi

be
st
äm

m
a

(2
−

i)
2
=

4
−

4i
+

i2
=

3
−

4i
,

(2
−

i)
3
=

(3
−

4i
)(
2
−

i)
=

6
−

3i
−

8i
+

4i
2
=

2
−

11
i,

(2
−

i)
4
=

(2
−

11
i)
(2

−
i)
=

4
−

2i
−

22
i+

11
i2
=

−
7
−

24
i.

D
et
ta

ge
r
at
t p
(2

−
i)
=

−
7
−

24
i
−

4(
2
−

11
i)
+

6(
3
−

4i
)
−

4(
2
−

i)
+

5

=
−
7
−

24
i
−

8
+

44
i+

18
−

24
i−

8
+

4i
+

5
=

0,

vi
lk
et

vi
sa
r
at
t
i
oc
h
2
−

i
är

n
ol
ls
tä
ll
en

ti
ll
p
ol
yn

om
et
.

E
ft
er
so
m

p
ol
yn

om
et

h
ar

re
el
la

ko
ef
fi
ci
en

te
r
ka

n
vi

d
ir
ek

t
sä
ga

at
t
d
e
tv
å
an

d
ra

n
ol
ls
tä
ll
en

a
är

ko
m
p
le
xk

on
ju
ga

te
t
av

d
e
tv
å
fö
rs
ta

n
ol
ls
tä
ll
en

a,
d
vs
.d

e
tv
å
an

d
ra

rö
tt
er
n
a
är

z
=

−
i
oc
h

z
=

2
+

i.

E
n
ko

n
se
kv

en
s
av

al
ge

br
an

s
fu
n
d
am

en
ta
ls
at
s
(o
ch

fa
kt
or
sa
ts
en

)
är

at
t
al
la

p
ol
yn

om
ka

n
fa
kt
or
is
er
as

ie
n
p
ro
d
u
kt

av
ko

m
p
le
xa

fö
rs
ta
gr
ad

sf
ak

to
re
r.
D
et
ta

gä
ll
er

äv
en

p
ol
y-

n
om

m
ed

re
el
la

ko
ef
fi
ci
en

te
r,
m
en

fö
r
d
es
sa

gå
r
d
et

at
t
m
u
lt
ip
li
ce
ra

ih
op

fö
rs
ta
gr
ad

s-
fa
kt
or
er

so
m

h
ör

ti
ll
ko

m
p
le
xk

on
ju
ge

ra
d
e
rö
tt
er

oc
h
få

en
fa
kt
or
is
er
in
g
h
el
tm

ed
re
el
la

fö
rs
ta
-
oc
h
an

d
ra
gr
ad

sf
ak

to
re
r.

E
xe

m
p
el

7

V
is
a
at
t
x
=

1
är

et
tn

ol
ls
tä
ll
e
ti
ll

p
(x
)
=

x
3
+

x
2
−

2.
Fa

kt
or
is
er
a
d
är
ef
te
r
p
(x
)
i

p
ol
yn

om
m
ed

re
el
la

ko
ef
fi
ci
en

te
r,
sa
m
t
fu
ll
st
än

d
ig
t
if
ör
st
ag

ra
d
sf
ak

to
re
r.

V
i
h
ar

at
t

p
(1
)
=

13
+

12
−

2
=

0
vi
lk
et

vi
sa
r
at
t
x

=
1
är

et
t
n
ol
ls
tä
ll
e
ti
ll

p
ol
yn

om
et
.E

n
li
gt

fa
kt
or
sa
ts
en

be
ty
d
er

d
et
ta

at
t
x
−

1
är

en
fa
kt
or

i
p
(x
),
d
vs
.a

tt
p
(x
)
är

d
el
ba

r
m
ed

x
−
1.
V
id

el
ar

d
är
fö
r
p
ol
yn

om
et

m
ed

x
−
1
fö
r
at
tf
å
åt
er
st
åe
n
d
e

10
4

fa
kt
or

om
x
−

1
br
yt
s
u
tu

r
p
ol
yn

om
et

x
3
+

x
2
−

2
x
−

1
=

x
2 (
x
−

1)
+

2x
2
−

2
x
−

1
=

x
2
+

2x
2
−

2
x
−

1
=

x
2
+

2x
(x

−
1)

+
2x

−
2

x
−

1

=
x
2
+

2x
+

2x
−

2
x
−

1
=

x
2
+

2x
+

2(
x
−

1)
x
−

1
=

x
2
+

2x
+

2.

A
ll
ts
å
h
ar

vi
at
t
p
(x
)
=

(x
−

1)
(x

2
+

2x
+

2)
.

N
u
åt
er
st
år

at
tf
ak

to
ri
se
ra

x
2
+

2x
+

2.
E
kv

at
io
n
en

x
2
+

2x
+

2
=

0
h
ar

lö
sn

in
g-

ar
n
a

x
=

−
1
±

√
(−

1)
2
−

2
=

−
1
±
√
−
1
=

−
1
±

i

oc
h
d
är
fö
r
h
ar

p
ol
yn

om
et

fö
lja

n
d
e
fa
kt
or
is
er
in
ge

n
ik

om
p
le
xa

fö
rs
ta
gr
ad

sf
ak

to
re
r

x
3
+

x
2
−

2
=

(x
−

1)
(x

2
+

2x
+

2)
=

(x
−

1)
(x

−
(−

1
+

i)
)(
x
−
(−

1
−

i)
)

=
(x

−
1)
(x

+
1
−

i)
(x

+
1
+

i)
.
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3.
4
Ö
vn

in
ga

r

Ö
vn

in
g
3.
4:
1

U
tf
ör

fö
lja

n
d
e
p
ol
yn

om
d
iv
is
io
n
er

(a
ll
a
gå

r
in
te

jä
m
n
tu

t)

a)
x
2
−

1
x
−

1
b)

x
2

x
+

1
c)

x
3
+

a3

x
+

a

d
)

x
3
+

x
+

2
x
+

1
e)

x
3
+

2x
2
+

1
x
2
+

3x
+

1

Ö
vn

in
g
3.
4:
2

E
kv

at
io
n
en

z3
−

3z
2
+

4z
−

2
=

0
h
ar

ro
te
n

z
=

1
.B

es
tä
m

öv
ri
ga

rö
tt
er
.

Ö
vn

in
g
3.
4:
3

E
kv

at
io
n
en

z4
+

2z
3
+

6z
2
+

8z
+

8
=

0
h
ar

rö
tt
er
n
a

z
=

2i
oc
h

z
=

−
1
−

i.
L
ös

ek
va

ti
on

en
.

Ö
vn

in
g
3.
4:
4

B
es
tä
m

tv
å
re
el
la

ta
l
a
oc
h

b
så

at
t
ek

va
ti
on

en
z3

+
az

+
b
=

0
h
ar

ro
te
n

z
=

1
−

2i
.

L
ös

se
d
an

ek
va

ti
on

en
.

Ö
vn

in
g
3.
4:
5

B
es
tä
m

a
oc
h

b
så

at
t
ek

va
ti
on

en
z4

−
6z

2
+

az
+

b
=

0
h
ar

en
tr
ip
p
el
ro
t.
L
ös

se
d
an

ek
va

ti
on

en
.

Ö
vn

in
g
3.
4:
6

E
kv

at
io
n
en

z4
+

3z
3
+

z2
+

18
z
−

30
=

0
h
ar

en
re
n
ti
m
ag

in
är

ro
t.
B
es
tä
m

al
la

rö
tt
er
.

Ö
vn

in
g
3.
4:
7

B
es
tä
m

p
ol
yn

om
so
m

h
ar

fö
lja

n
d
e
n
ol
ls
tä
ll
en

a)
1
,
2
oc
h

4
b)

−
1
+

i
oc
h
−
1
−

i

10
6

Fa
ci
t
ti
ll
öv

n
in
gs
u
p
p
gi
ft
er

D
er
iv
at
a

1.
1:
1

a)
f
′ (
−
5)

>
0

oc
h

f
′ (
1)

<
0

b)
x
=

−
3
oc
h
x
=

2

c)
−
3
<

x
<

2

1.
1:
2

a)
f
′ (
x
)
=

2x
−

3

b)
f
′ (
x
)
=

−
si
n
x
−

co
s
x

c)
f
′ (
x
)
=

ex
−

1/
x

d
)
f
′ (
x
)
=

1 2
x
−
1/

2
=

1/
2√

x

e)
f
′ (
x
)
=

4x
(x

2
−

1)

f)
f
′ (
x
)
=

−
si
n
(x

+
π
/
3 )

1.
1:
3

14
,0

m
/
s

1.
1:
4

Ta
n
ge

n
te
n
:
y
=

2x
−

1
N
or
m
al
en

:
y
=

−
1 2
x
+

3 2

1.
1:
5

( 1
−
√
2,
−
3
+

2√
2
)
oc
h

( 1
+
√
2,
−
3
−

2√
2
)

1.
2:
1

a)
co
s2
x
−

si
n
2
x
=

co
s
2x

b)
2x

ln
x
+

x

c)
x
2
+

2x
−

1
(x

+
1)

2
=

1
−

2
(x

+
1)

2

d
)
co
s
x

x
−

si
n
x

x
2

e)
1 ln
x
−

1
(l
n
x
)2

f)
ln

x
+

1
si
n
x

−
x
ln

x
co
s
x

si
n
2
x

1.
2:
2

a)
co
s
x
2
·2

x

b)
ex

2
+
x
(2
x
+

1)

c)
−

si
n
x

2√
co
s
x

d
)

1
x
ln

x

e)
(2
x
+

1)
3 (
10

x
+

1)

f)
si
n
√
1
−

x

2√
1
−

x

1.
2:
3

a)
1

2√
x
√
x
+

1

b)
−

1

(x
−

1)
3/

2√
x
+

1

c)
−

1
−

2x
2

x
2 (
1
−

x
2 )

3/
2

d
)
−
co
s
co
s
si
n
x
·s
in

si
n
x
·c
os

x

e)
es
in

x
2
·c
os

x
2
·2

x

f)
x
ta
n
x
(

ln
x

co
s2
x
+

ta
n
x

x

)

1.
2:
4

a)
3x

(1
−

x
2 )

5/
2

b)
−
2
si
n
ln

x

x

1.
3:
1

a)
K
ri
ti
sk

p
u
n
kt
:
x
=

0
Te

ra
ss
p
u
n
kt
:
Sa

kn
as

L
ok

al
t
m
in
:
x
=

0
L
ok

al
t
m
ax

:
Sa

kn
as

G
lo
ba

lt
m
in
:
x
=

0
G
lo
ba

lt
m
ax

:
Sa

kn
as

St
rä
n
gt

vä
x.
:
x
≥

0
St
rä
n
gt

av
t.:

x
≤

0

b)
K
ri
ti
sk

p
u
n
kt
:
x
=

−
1
oc
h
1

Te
ra
ss
p
u
n
kt
:
Sa

kn
as

L
ok

al
t
m
in
:
x
=

−
3
oc
h
1

L
ok

al
t
m
ax

:
x
=

−
1
oc
h
2

G
lo
ba

lt
m
in
:
x
=

−
3

G
lo
ba

lt
m
ax

:
x
=

−
1

St
rä
n
gt

vä
x.
:
[−

3,
−
1]

oc
h
[1
,2
]

St
rä
n
gt

av
t.:

[−
1,
1]

c)
K
ri
ti
sk

p
u
n
kt
:
x
=

−
2,
−
1,

oc
h

1 2
Te

ra
ss
p
u
n
kt
:
x
=

−
1

L
ok

al
t
m
in
:
x
=

−
2
oc
h
2

L
ok

al
t
m
ax

:
x
=

−
3
oc
h

1 2
G
lo
ba

lt
m
in
:
x
=

−
2

G
lo
ba

lt
m
ax

:
x
=

−
3

St
rä
n
gt

vä
x.
:
[−

2,
1 2
]

St
rä
n
gt

av
t.:

[−
3,
−
2]

oc
h
[1 2
,2
]



10
7

d
)
K
ri
ti
sk

p
u
n
kt
:
x
=

−
5 2
oc
h

1 2
Te

ra
ss
p
u
n
kt
:
Sa

kn
as

L
ok

al
t
m
in
:
x
=

−
5 2
,−

1 2
oc
h
2

L
ok

al
t
m
ax

:
x
=

−
3,
−
1,
oc
h

1 2

G
lo
ba

lt
m
in
:
x
=

−
5 2

G
lo
ba

lt
m
ax

:
x
=

−
1

St
rä
n
gt

vä
x.
:
[−

5 2
,−

1]
,[
−

1 2
,1 2
]

St
rä
n
gt

av
t.:

[−
3,
−

5 2
],
[−

1,
−

1 2
]

oc
h
[1 2
,2
]

1.
3:
2

a)
x
=

1
(l
ok

al
t
m
in
)

b)
x
=

3 2
(l
ok

al
t
m
ax

)
c)

x
=

−
2

(l
ok

al
t
m
ax

)
x
=

1
(l
ok

al
t
m
in
)

d
)
L
ok

al
ex
tr
em

p
u
n
kt

sa
kn

as

1.
3:
3

a)
x
=

0
(l
ok

al
t
m
ax

)
b)

x
=

−
1 3
ln

5 3
(l
ok

al
t
m
in
)

c)
x
=

1/
e

(l
ok

al
t
m
in
)

d
)
x
=

−
√
√
2
−

1
(l
ok

al
t
m
ax

)
x
=

0
(l
ok

al
t
m
in
)

x
=

√
√
2
−

1
(l
ok

al
t
m
ax

)
e)

x
=

−
3

(l
ok

al
t
m
in
)

x
=

−
2

(l
ok

al
t
m
ax

)
x
=

1
(l
ok

al
t
m
in
)

x
=

3
(l
ok

al
t
m
ax

)

1.
3:
4

P
=

( 1/
√
3,
2/

3)

1.
3:
5

α
=

π
/
6

1.
3:
6

R
ad

ie
=

h
öj
d
=

3√
V
/

π

1.
3:
7

2π
( 1

−
√

2 3

)
ra
d
ia
n
er

In
te
gr
al
er

2.
1:
1

a)
6

b)
2

c)
2

d
)

5 2

2.
1:
2

a)
44 3

b)
−

9 2
c)

32 3
d
)
1

2.
1:
3

a)
−
co
s
x
+

C
b)

−
1 2
co
s
2x

+
C

c)
1 3
e3

x
+

1 2
e2

x
+

C

d
)

1 2
x
2
+

ln
x
+

C

2.
1:
4

a)
(3

−
1/
√
2
)
a.
e.

b)
4√

3
a.
e.

c)
32

a.
e.

d
)
(√

2
−

1
−

ln
(√

2
−

1)
)
a.
e.

e)
9 2
a.
e.

2.
1:
5

a)
2 27

( (x
+

9)
√
x
+

9
+

x
√
x
) +

C

b)
−

1 4
si
n
2x

+
1 2
x
+

C

2.
2:
1

a)
13 10
00

b)
1 12
(x

2
+

3)
6
+

C

c)
1 3
ex

3
+

C

2.
2:
2

a)
0

b)
1 2
(e

4
−

e3
)

c)
14

d
)

3 4

2.
2:
3

a)
−
co
s
x
2
+

C

b)
1 2
si
n
2
x
+

C

c)
1 2
(l
n
x
)2

+
C

d
)

1 2
ln
( x

2
+

2x
+

2) +
C

e)
3 2
ln
( x

2
+

1) +
C

f)
−
2
co
s√

x
+

C

2.
2:
4

a)
1 2
ar
ct
an

x 2
+

C

b)
1 √
3
ar
ct
an

x
−

1
√
3

+
C

c)
1 2
ar
ct
an

x
+

2
2

+
C

d
)
x
−

ar
ct
an

x
+

C

2.
3:
1

a)
−
2(
x
+

1)
e−

x
+

C

b)
−
(x

+
1)

co
s
x
+

si
n
x
+

C

c)
2x

co
s
x
+
(x

2
−

2)
si
n
x
+

C

d
)

1 2
x
2(
ln

x
−

1 2

) +
C

2.
3:
2

a)
2e

√
x
( √

x
−

1) +
C

b)
1 2

c)
−
ln

|co
s
x
|+

C

d
)
x
(l
n
x
−

1)
+

C

10
8

K
om

p
le
xa

ta
l

3.
1:
1

a)
8
+

3i
b)

−
2
+

4i
c)

−
3
+

2i
d
)
31

+
i

e)
7
−

i
f)

1
−

i

3.
1:
2

a)
1 2
−

5 2
i

b)
−

19 26
+

2 13
i

c)
−

11 4
−

5 4

√
3
i

d
)

7 13
0
−

93 65
i

3.
1:
3

a
=

−
6

3.
1:
4

a)
z
=

2
+

3i
b)

z
=

4 5
+

7 5
i

c)
z
=

2
+

i
d
)
z
=

3 5
−

1 5
i

e)
z
=

2 3
−

i
f)

z
=

3
+

i

3.
2:
1

a)

R
e

Im

zw

b)

R
e

Im

z
−

u

z
+

u

c)

R
e

Im

2z
+

w

d
)

R
e

Im z
−

w
+

u

3.
2:
2

a)

R
e

Im

b)

R
e

Im

c)

R
e

Im

d
)

R
e

Im



10
9

e)

R
e

Im

f)

R
e

Im

3.
2:
3

2
+

4i

3.
2:
4

a)
5

b)
√
53

c)
5√

13
d
)
5/
√
13

3.
2:
5

a)
π

b)
3 4
π

c)
−

1 12
π

el
le
r

23 12
π

d
)

1 4
π

3.
2:
6

a)
3(
co
s
0
+

i
si
n
0)

b)
11

( co
s
3π 2

+
i
si
n
3π 2

)

c)
4√

2( co
s
5π 4

+
i
si
n
5π 4

)

d
)
2√

10
( co

s
π 3
+

i
si
n

π 3

)

e)
√
2( co

s
π 12

+
i
si
n

π 12

)

f)

√
2 3

( co
s

π 4
+

i
si
n

π 4

)

3.
3:
1

a)
−
64

b)
1

c)
26

5
+

26
5√

3
i

d
)
−
64

e)
1 32

√
3
−

1 32
i

3.
3:
2

a)
z
=

±
1,

z
=

±
i

b)
z
=

1 2
±

1 2

√
3
i,

z
=

−
1

c)
z
=

21
/
10
ex
p
( π

i 4
+

2k
π
i

5

)

fö
r
k
=

0,
1,
2,
3,
4.

d
)
z
=

2
±

i,
z
=

±
i

e)
z
=

±
1

3.
3:
3

a)
(z

+
1)

2
+

2

b)
( z

+
3 2
i) 2

+
2

c)
−
(z

−
2
+

i)
2
+

4(
1
−

i)

d
)
i( z

+
3 2
−

i) 2
−
4
−

5 4
i

3.
3:
4

a)
z
=

±
(1

+
i)
/√

2
b)

z
=

2
±

i
c)

z
=

−
1,

z
=

3
d
)
z
=

(1
±

i√
15

)/
4

3.
3:
5

a)
z
=

2
+

1,
z
=

i

b)
z
=

1
+

i,
z
=

1
−

2i
c)

z
=

2
+

i,
z
=

−
1
+

2i
d
)
z
=

i,
z
=

1
+

4i

3.
3:
6

z
=

    

4√
2( co

s
π 8
+

i
si
n

π 8

)

4√
2( co

s
9π 8

+
i
si
n
9π 8

)

=

{
1 2

√
2√

2
+

2
+

i
1 2

√
2√

2
−

2

−
1 2

√
2√

2
+

2
−

i
1 2

√
2√

2
−

2

U
tt
ry
ck
et
:
ta
n

π 8
=

√
2
−

1

3.
4:
1

a)
x
+

1
b)

x
−

1
+

1
x
+

1
c)

x
2
−

ax
+

a2
d
)
x
2
−

x
+

2

e)
x
−

1
+

2x
+

2
x
2
+

3x
+

1

3.
4:
2

z
=

1
±

i

3.
4:
3

z
=

−
1
±

i,
z
=

±
2i

3.
4:
4

V
äl
j
a
=

1
oc
h

b
=

10
.

L
ös
n
in
ga

r:
z
=

1
±

2i
,

z
=

−
2.

3.
4:
5

T
vå

fa
ll
:

1.
V
äl
j
a
=

8
oc
h

b
=

−
3
.

L
ös
n
in
ga

r:
z
=

1
(t
ri
p
p
el
ro
t)
,

z
=

−
3
.

11
0

2.
V
äl
j
a
=

−
8
oc
h

b
=

−
3
.

L
ös
n
in
ga

r:
z
=

−
1
(t
ri
p
p
el
ro
t)
,

z
=

3
.

3.
4:
6

z
=

±
i√

6,
z
=

−
3 2
±

1 2

√
29

3.
4:
7

a)
(z

−
1)
(z

−
2)
(z

−
4)

=
z3

−
7z

2
+

14
z
−

8

b)
(z

+
1
−

i)
(z

+
1
+

i) =
z2

+
2z

+
2


